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O(x, y) = Oo(x, y) [iφo(x, y)]

R(x, y) = Rr(x, y) [iφr(x, y)]
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Oo(x, y), Rr(x, y), o(x, y) r(x, y)

U(x, y) = O(x, y) +R(x, y)

I(X, Y ) = |O(X, Y ) +R(X, Y )|2
= |O|2 + |R|2 + 2�{OR∗}
= |O|2 +R2

r + 2OoRr [φr(x, y)− φo(x, y)]

2OoRr φr(x, y) − φo(x, y)

t

t(x, y) = (|O|2 +R2
r

+2OoRr [φr(x, y)− φo(x, y)])



Uo(X, Y ) = R(x, y)t(x, y)

= (|O|2R +R2
rR +R2O∗ +R2
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f(x, y) = fx(x)fy(y).

fx(x) fy(y)

fx(x) =

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

0 (x < −x1)√
(x1 + x)/a (−x1 ≤ x < −x1 + a)

1 (−x1 + a ≤ x < x1 − a)√
(x1 − x)/a (x1 − a ≤ x < x1)

0 (x1 ≤ x)



a −x1 x1

a/W

fy(y) =
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⎪⎪⎪⎪⎪⎪⎪⎪⎩

fy(|y|) (0 ≤ y)

0 (0 < y < y1)√
(y − y1)/b (y1 ≤ y ≤ y1 + b)

1 (y1 + b < y < y2 − b)√
(y2 − x)/b (y2 − b ≤ y ≤ y2)

0 (y > y2)
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